orkahear Math Maze
Werks-com

Name: Date:

Find your way from top to bottom by following the path of correct answers.

Copyright ©2012 WorksheetWorks.com



Math Maze
o ANSWER KEY

Find your way from top to bottom by following the path of correct answers.

80 54
82 51
30 50

9 10

x3 27 40 x 4 40

27 /_\

24

p

Copyright ©2012 WorksheetWorks.com



orkahear Math Maze
Werks-com

Name: Date:

Find your way from top to bottom by following the path of correct answers.

Copyright ©2012 WorksheetWorks.com



Math Maze
o ANSWER KEY

Find your way from top to bottom by following the path of correct answers.

Copyright ©2012 WorksheetWorks.com



orkahear Math Maze
Werks-com .

Name:

Find your way from top to bottom by following the path of correct answers.

N

|
E=N

N

N

X

N o
N

|

N

10

NN
|

== N
oON

N o |
N
-_— e
- 0 N
o
A
e
-—
-—
_\Oo
—\m
W =
o W

SN
(o)

3
99 27 x9 21 26 +11

oo,
X
©

20 x 2 22 50 x 45 99

|
-_—
w
-
o

© < ©
(L=}

O
oo:
- 0 &
\‘:
- 8 3
00O

w N
wl\) ~
- 308
N

+
-
()]

80 32 x4 28 30

+
N
N
\‘
+
(o2}
N
N
N
D
+
o
N
(o))
(0]
o
X

23

a 223
_‘:

-~ N
O’O-P
N RO
o:
o ® N
-3 R
N:
> 8

23 + §

X
N
~
w
o
+
N
N
I
-
o
©
+
E =N
©
N
+
N
=

20 + 6 18 18 X

+
=N
(o]

24 27 30 8

+
-—
A

o X X
»
wo & °
»
3>
»
a3 3
»
;’\88
»
w~ 3 2

X
I
@
N
X

- 2R
m:
N o X
w:
- 8
m:
_\B\l
N:
- 3 o
_\:
a NN
N

20 81 x 7 77 24 + 7

+
(=2}
N
~

10

[
I
N

+13

w
-
oo

|
-
(8]
oo

77

;
;
p
)
)

Copyright ©2012 WorksheetWorks.com



Math Maze
o ANSWER KEY
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Math Maze

Name: Date:

Find your way from top to bottom by following the path of correct answers.
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Math Maze
ANSWER KEY

Find your way from top to bottom by following the path of correct answers.
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Math Maze

Name: Date:

Find your way from top to bottom by following the path of correct answers.
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Math Maze
ANSWER KEY

Find your way from top to bottom by following the path of correct answers.
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Math Maze
ANSWER KEY

Find your way from top to bottom by following the path of correct answers.
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Find your way from top to bottom by following the path of correct answers.
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Math Maze

Name: Date:

Find your way from top to bottom by following the path of correct answers.
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Math Maze
ANSWER KEY

Find your way from top to bottom by following the path of correct answers.
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